(110) 4= K B 27 L3238 4 43048

ERAY n0$3ﬁsa%2ﬁﬁ
AEBAL 1 R GRAF 1R

#8:

THEE R CEPHRATEERLHETE
AR GEANE 0 BRAEL > BRIR Pt

1. f£308h323% + > Douglas McGregor 32 4 7 X #H A A Y ¥ #%(Theory X and
Theory Y) @ 3F M — BB H ARG ERBRAUAREE T L XA TY
BLEL RGP IR — B 3 W B A A BB HO R L o (20%)

2. F%

HaM AT F AR AR TR EAECHEREZR - 20%)

3 UAE ABREE ) 4Ll 4 8k ) 2 AL B AR F T AE €38 B 44 B S Ar PR B o

(20%)

HA A % 71 (creativity)Fu £ # (innovation) 4T & 7] » AR B IEE T REBE

T X, A AR L B 80 LB HE 2 (20%)

5. @¥MAEHEFE(COVID-19)% F eyt % > HEATEERL RGO RIS &
RERBE BABEILEN - FUBAGBRI ST AN TRELIPIES
R AN BEEFEE L ko] BIKEMERFER L AR AR T
BB AR M R R E B E o (20%)

X xE:

LA BL TRHEES ) LS -
LARBREGINHGTERKER -
3AEMEFTERANEM ~ ik FAIARIMKTE > AMEIREAE -




AWAM 10534 5 A% 2 B

(110)#4= X B 3248 4 & KX ___

ARME 1 R (REAE 1 R

>k

#8: BF%F RAt: PERTERATESRIELE

~ [20%]) R kR - E#EHE Ty #3RES F,
() REBCERHTAA R B 848 €A% #(Automatic Stabilizers)z % 1 5% & M & 8 7 R R IR -
() 6EBREABAXRECREERELABARRZRERANRETARKRA G ARER
& (foreign direct investment) °
() HREBOBRT A Y EEFBREITEBLEESTFK -
() BaeMuE i T R4 EEERBSemmmRtRE -

 [10%] 3% M #3088 3 76 & £ # % (Federal Fund Rate) « & B4 & 41 £ B3 L o9 LR 8% > Fed &
RIRATITERFRL KA ZHRBREE?

 [I5%) RSB R LR OECEARRBAR K B AL AL TRMAEE - ZUEHE
BB > FR(]) REAIFETURAMBEXRERTQ) L LEBREFHZTRETLER
B THeHBRATHERL?0) BRSO L EAFRERSE  FH LB LTS XA E?

 [15%]) At dh i h B2 518 -

 [20%)#BRERTERCELER -5 RAUREBAHGH TR FEE T AW B AR SRS
BN RERBFOHRCBILBEAER AT S RE LN BEARL BN RRBFHENE
AEBROTEYH HF () - BB MBEBLETRIQ) AERLEHBLER2ZBYE &
RHEMER B AAEEHMRL? Q) RQEHAHNHEGBEAM? (4) ARQ)AE EGFLAHT
BN EABR?

 [20%)BEE—THRELAREEENIREN A RE NI R U EBIBNRE - ZEHEERDE

EIFH A B A REMFERNERNITURRIOFEAHFE - X HERAFRITE LRI E
A TUEBRSOBEBAHFE - ZRA—RQNBEARERFRNS —RELA  HBTES RSB
WA T IAER 40 B A AN RPATEERFT20ELHAE (1) FRELE T RE VBT ER
(payoff matrix) - (2) F P& E 2> 8 & F A # % R =%(dominant strategy) » # % %36 3% R& L HE?
(3) 3% 4 3% & B oy Nash equilibrium -

Py

Z%ILELAE MHERE, LUE -
2K BAE & WA T R -
3AEMEEFTERASIM 50 FRELTHETR » REEZARHE -




#ﬁa;m:lloir-sﬂsa% 2 &

110) 4= X S L H 1 4 4 R
(  ABEE 1K GEAZ 1D

#8 Ry A ©REESATERTIELE

Notice: Please list your computation in details on answer sheet; scientific or financial calculators can not

be used.
1. fix)= H Please evaluate f'(0). (4%)
x

2. Determine the equation of the line tangent to the ellipse x* + 437 = 25 at the point (3, —2). (12%)
3. A square piece of cardboard 40 centimeters by 40 centimeters is used to make an open box as shown
in the figure. A small square is cut from each corner of the cardboard, and then the sides are folded

up. Determine the size of the cut (x in the figure) that will lead to the box of greatest volume. (16%)
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4. Determine the relative extrema of f(x) = %x“ —%xS -2x" +3.(8%)

5. f(x)=e’*. Determine /"% (0). (4%)

6. Determine the derivative of f(x) =3 . (8%)

_e2x

7. Please evaluate I L dx . (8%)

e)f

3 42
8. Please evaluate J:) -

~16 e (8%)
4
9. Please evaluate J.(4x2 +4x - 6)* (2x + Ddx . (8%)

10. Please evaluate jJ} Inx dx.(8%)

11. Please evaluate " In2x d. (8%)

12. Find the volume of the solid produced by revolving the region bounded by y = (2x — 1) from x = 1
to x = 14 about the x axis. (8%)
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